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1. gsVjksfll gS % 
 

1. Heterosis is : 

(A) Lor% mRifjorZu dh mifLFkfr  (A) Appearance of spontaneous 

mutation 

(B) loksZŸke ‘kq) oa’kØe dk p;u  (B)  Selection of best pure line 

(C) nks ;k nks ls vf/kd ‘khyxq.kksa dk feJ.k  (C)  Mixture of two or more traits 

(D) vius tudksa ij ladjksa dh Js”Brk  (D)  Superiority of hybrids over its 

parents 

2. fuEufyf[kr esa ls dkSu&lk Qwy dk Hkkx eVj 

esa L=hdslj vkSj iqadslj dks ?ksjrk gS \ 

 
2. Which of the following flower parts 

encloses the pistil and stamens in pea ? 

(A) lgi=  (A) Bracts 

(B) dhy  (B)  Keel 

(C) LVSaMMZ  (C)  Standard 

(D) Çox  (D)  Wing 

3. Hkkjr esa lwjteq[kh dks ;w,l,lvkj ls dc 

iqj%LFkkfir fd;k x;k Fkk \ 

 
3. Sunflower was introduced from USSR in 

India during : 

(A) 1969  (A) 1969 

(B)  1869  (B)  1869 

(C)  1999  (C)  1999 

(D)  1899  (D)  1899 

4. ikSf”Vd :i ls] lwjteq[kh dk rsy vU; 

ouLifr rsyksa dh rqyuk esa dqN gn rd csgrj 

gS D;ksafd % 

 
4. Nutritionally, sunflower oil is somewhat 

superior to other vegetable oils due to : 

(A) vlar`Ir olh; vEyksa dk vf/kd vuqikr 

¼vksfyd] fyuksfyd vkSj fyuksysfud½ 

 (A) The greater proportion of 

unsaturated fatty acids (oleic, 

linoleic and linolenic) 

(B) de lar`Ir QSVh ,flM ¼ikfefVd vkSj 

LVh;fjd½ 

 (B)  Lower saturated fatty acids 

(palmitic and stearic) 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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5. lwjteq[kh dk mn~xe LFkku gS % 
 

5. Origin place of sunflower is : 

(A) mÙkjh vesfjdk  (A) North America 

(B) lksfo;r la?k  (B)  USSR 

(C) Lisu  (C)  Spain 

(D) nf{k.k vÝhdk  (D)  South Africa 

6. gsfy;uFkl ,uql dk IyksbMh Lrj D;k gS \ 
 

6. What is the ploidy level of Helianthus 

annuus ? 

(A) 2n = 2x = 34  (A) 2n = 2x = 34 

(B)  2n = 2x = 68  (B)  2n = 2x = 68 

(C)  2n = 4x = 34  (C)  2n = 4x = 34 

(D)  2n = 4x = 68  (D)  2n = 4x = 68 

7. lwjteq[kh dk iq”iØe gS % 
 

7. The inflorescence of Sunflower is a : 

(A) dSfiVye ;k gsM  (A) Capitulum or head 

(B) iSfufdy ;k bZ;j  (B)  Panicle or ear 

(C) Vlsy  (C)  Tassel 

(D) mi;qZDr lHkh  (D)  All of the above 

8. lwjteq[kh ,d ?kVuk dks n’kkZrk gS ftls dgk 
-

---------------------------
] tkrk gSA ftlesa fodkl’khy gsM 

lqcg iwoZ ¼mÙkj ls 50&70 fMxzh½ dk lkeuk 

djrs gSa] lw;Z dh xfr dk ikyu djrs gaS vkSj 

‘kke dks if’pe dh vksj ¼60&90 fMxzh mÙkj 

ls½ ?kwe tkrs gSaA bl izfØ;k esa ifÙk;k¡ vkSj 

vuSfPNd [kaM nksuksa ‘kkfey gksrs gSaA 

 
8. Sunflowers show a phenomenon called as 

................... in which the developing 

heads face east (50-70° from north) in the 

morning, follow the movement of the sun 

and in the evening face west (60-90° 

from north). Both leaves and involucral 

bracts are involved in this process. 

(A) gsfy;ksVªksfiTe  (A) Heliotropism 

(B) QksVksVªksfiTe  (B)  Phototropism 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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9. 1920 ds n’kd dh ‘kq#vkr esa rsy dh ek=k 

dks yxHkx 30% ls c<+kdj orZeku esa 50% 

ls vf/kd djus ds fy, lwjteq[kh esa vR;f/kd 

lQy iztuu fof/k gS % 

 
9. The highly successful breeding method in 

sunflower for improving oil content from 

about 30% in early 1920‟s to over 50% in 

the present day varieties is : 

(A) ladj vkst iztuu  (A) Heterosis breeding 

(B) lewg p;u  (B)  Mass selection 

(C) fjtoZ dh iqLVksoksbV fof/k  (C)  Pustovoit Method of Reserve 

(D) mi;qZDr lHkh  (D)  All of the above 

10. ,d gsDVs;j {ks= ds fy, Vªw iksVSVks lhM 

¼Vhih,l½ dh cht nj gS % 

 
10. Seed rate of True Potato Seed (TPS) for 

one hectare is : 

(A) 100 xzke  (A) 100 g 

(B) 250 xzke  (B)  250 g 

(C) 500 xzke  (C)  500 g 

(D) 1000 xzke  (D)  1000 g 

11. vkyw dk lcls xEHkhj jksx gS % 
 

11. The most serious disease of potato is : 

(A) iksVSVks yhQ jksy ok;jl (PLRV)  (A) Potato Leaf Roll Virus (PLRV) 

(B) vyhZ CykbV  (B)  Early blight 

(C) ysV CykbV  (C)  Late blight 

(D) cSDVhfj;y foYV  (D)  Bacterial wilt 

12. Hkkjrh; xsgw¡ vkSj tkS vuqla/kku laLFkku 

(IIWBR) dgk¡ fLFkr gS \ 

 
12. Where is the Indian Institute of Wheat 

and Barley Research (IIWBR) located ? 

(A) esjB] mÙkj izns’k  (A) Meerut, Uttar Pradesh 

(B) Hkqous’oj] mM+hlk  (B)  Bhubaneswar, Odisha 

(C) yqf/k;kuk] iatkc  (C)  Ludhiana, Punjab 

(D) djuky] gfj;k.kk  (D)  Karnal, Haryana 
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13. xsgw¡ ds nkus ds e/; oØ v{k dks dgrs gSa % 
 

13. Central zigzag axis of wheat panicle is 

called : 

(A) dYe  (A) Culm 

(B) ‘kwV  (B)  Shoot 

(C) jSfpl  (C)  Rachis 

(D) eqdqV  (D)  Crown 

14. eDds ds ikS/ks esa flYd dk D;k dk;Z gS \ 
 

14. What is the function of silk in maize  

plant ? 

(A) ;g fLVXek ds :i esa dk;Z djrk gSA  (A) It functions as stigma. 

(B) vla[; ijkxd.kksa dk mRiknu djus ds 

fy,A 

 (B)  To produce numerous pollen 

grains. 

(C) ;g fLVXek vkSj LVkby nksuksa ds :i esa 

dk;Z djrk gSA 

 (C)  It functions as both stigma and 

style. 

(D) mi;qZDr lHkh  (D)  All of the above 

15. pkjk cktjk dh okaNuh; fo’ks”krk gS % 
 

15. The desirable characteristic of forage 

Bajra is : 

(A) rus ds jl esa phuh dh vf/kd ek=k vkSj 

vPNh ikpu’kfDr gksA 

 (A) High sugar content in the stem juice 

and good digestibility. 

(B) vf/kd pkSM+kbZ ds lkFk ifÙk;ksa dh la[;k 

esa o`f)A 

 (B)  Increased leaves number with more 

breadth. 

(C) izdk’k laosnu’khyrk ds lkFk ,d NksVs 

fnu dk ikS/kkA 

 (C)  A short day plant with photo-

sensitiveness. 

(D) mi;qZDr lHkh  (D)  All of the above 
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16. dikl dh Qkbcj xq.koÙkk esa lexz :i ls 

‘kkfey gS % 

 
16. Fibre quality in cotton is a composite 

term which includes : 

(A) Qkbcj yEckbZ dh ,d:irk] vkSj 

Qkbcj ifjiDork 

 (A) Uniformity of fiber length, and 

fibre maturity 

(B) Qkbcj ‘kfDr vkSj Qkbcj fQVusl  (B)  Fibre strength and fibre fitness 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

17. eww¡xQyh esa rsy dh ek=k gS % 
 

17. The oil content in groundnut is : 

(A) 43-56%  (A) 43-56% 

(B)  31-42%  (B)  31-42% 

(C)  56-64%  (C)  56-64% 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

18. eDdk esa ij&ijkx.k fdlds dkj.k gksrk gS \ 
 

18. Cross pollination in maize occurs due to : 

(A) Lo&vfu”ksP;rk  (A) Self-incompatibility 

(B) izksVksxk;uh  (B)  Protogyny 

(C) izksVsaMªh  (C)  Protandry 

(D) mi;qZDr lHkh  (D)  All of the above 

19. /kku esa ckSusiu dk lzksr D;k gS \ 
 

19. What is the source of dwarfism in rice ? 

(A) rkbpqax usfVo&1  (A) Taichung Native-1 

(B) Mh&ft;ks&ow&thu  (B)  Dee-geo-woo-gen 

(C) vkbZvkj&8&288&3  (C)  IR-8-288-3 

(D) mi;qZDr lHkh  (D)  All of the above 
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20. puk dk lEHkkfor taxyh iztuudrkZ D;k gS \ 
 

20. What is probable wild progenitor of 

Chickpea ? 

(A) fllj fctqxe  (A) Cicer bijugum 

(B) fllj bfpuksLieZe  (B)  Cicer echinospermum 

(C) fllj jsfVdqye  (C)  Cicer reticulum 

(D) mi;qZDr lHkh  (D)  All of the above 

21. ,slk ekuk tkrk gS fd ,f’k;kbZ pkoy (Oryza 

sativa) dh mRifÙk taxyh iztkfr 
-------------------------

 ls 

gqbZ gSA 

 
21. It is believed that the Asian rice (Oryza 

sativa) originated from the wild species : 

(A) vks- #fQiksxu  (A) O. rufipogan 

(B) vks- czsfofyxqykVk  (B)  O. breviligulata 

(C) vks- Xykscsfjek  (C)  O. glaberrima 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

22. fuEufyf[kr esa ls dkSu&lh Qly Hkkstu ds 

csgrj iks”k.k ewY; ds fy, vkuqoaf’kd :i ls 

la’kksf/kr gS \ 

 
22. Which of the following crops is 

genetically modified for improved 

nutritional value of food ? 

(A) dikl  (A) Cotton 

(B) pkoy  (B)  Rice 

(C) eDdk  (C)  Maize 

(D) dkcqyh puk  (D)  Chickpea 
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23. thul xkWlhfi;e dk mRifÙk dsUæ gS % 
 

23. The centre of origin of the genus 

Gossypium is in : 

(A) e/; Hkkjr   (A) Central India 

(B) e/; vÝhdk   (B)  Central Africa 

(C) e/; czkthy   (C)  Central Brazil 

(D) nf{k.k vesfjdk   (D)  South America 

24. ikuh esa v?kqyu’khy xsgw¡ ds vkVk izksVhu ds 

va’k dks dgk tkrk gS % 

 
24. The water insoluble fraction of flour 

protein in wheat is referred to as : 

(A) ykbflu  (A) Lysine 

(B) XywVsu  (B)  Gluten 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

25. nkysa gekjs thou ds fy, fdl izdkj egRoiw.kZ 

gSa \ 

 
25. How important are pulses in our  

lives ? 

(A) izksVhu dk le`) lzksr  (A) Rich source of protein 

(B) ok;qeaMyh; ukbVªkstsu dks feêh esa fLFkj 

djuk 

 (B)  Fixing atmospheric nitrogen to soil 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

26. vjsfpl gkbiksfx;k dk lcls lEHkkfor taxyh 

iztuudrkZ gS % 

 
26. Most probable wild progenitor of Arachis 

hypogaea is : 

(A) vjsfpl eksafVdksyk  (A) Arachis monticola 

(B) vjsfpl XycjkVk  (B)  Arachis glabrata 

(C) vjsfpl Mqjkusafll  (C)  Arachis duranesis 

(D) vjsfpl foykslk  (D)  Arachis villosa 
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27. ,f’k;kbZ dikl Lih’kht gSa % 
 

27. Asiatic cotton species are : 

(A) th- vkjcksfj;e vkSj th- gjcsfl;e  (A) G. arboreum and G. herbaceum 

(B) th- fgjlqVe vkSj th- ckjckMsal  (B)  G. hirsutum and G. barbadense 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

28. eVj ds Qwy gSa % 
 

28. Pea flowers are : 

(A) DyhLVksxSel  (A) Cleistogamous 

(B) ,dÇyxh  (B)  Unisexual 

(C) fgVjksLVk;yh  (C)  Heterostyly 

(D) f}ÇyxkJ;h  (D)  Monoecious 

29. xUuk iztuu laLFkku dh LFkkiuk gqbZ Fkh % 
 

29. Sugarcane Breeding Institute was 

established in : 

(A) 1952 y[kuÅ esa  (A) 1952 at Lucknow 

(B) 1912 dks;EcVwj esa  (B)  1912 at Coimbatore 

(C) 1952 dks;EcVwj esa  (C)  1952 at Coimbatore 

(D) 1912 y[kuÅ esa  (D)  1912 at Lucknow 

30. fuEufyf[kr esa ls fdl iztkfr ds xUus dh 

[ksrh dh tkrh gS \ 

 
30. Which among the following species of 

sugarcane is cultivated ? 

(A) lSdje vksfQlusje  (A) Saccharum officinarum 

(B) ,l- lkbusal  (B)  S. sinense 

(C) ,l- cjcsjh  (C)  S. barberi 

(D) mi;qZDr lHkh  (D)  All of the above 



 

AG–402 ( 11 )  Set-D 

31. pkoy dh [kkuk idkus dh xq.koÙkk fu/kkZfjr 

djus okys eq[; ?kVdksa esa ls ,d gS % 

 
31. One of the chief components determining 

cooking quality of rice is : 

(A) lqxU/k  (A) Aroma 

(B) dusZy vk;ke  (B)  Kernel dimension 

(C) ,ekbykst lkexzh  (C)  Amylose content 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. lSdje vksfQlusje dk lcls lEHkkfor taxyh 

iztuudrkZ gS % 

 
32. The most probable wild progenitor of 

Saccharum officinarum is : 

(A) ,l- jkscLVe  (A) S. robustum 

(B) ,l- lkbusal  (B)  S. sinense 

(C) ,l- cjcsjh  (C)  S. barberi 

(D) ,l- LikWuVsfu;e  (D)  S. spontaneum 

33. xsgw¡ dh Qly esa iq”ixqPN ls igys lcls Åij 

okyh iÙkh dgykrh gS % 

 
33. The uppermost leaf before the panicle in 

wheat crop is known as : 

(A) yhQ ‘khFk  (A) Leaf sheath 

(B) yhQ+ CysM  (B)  Leaf blade 

(C) ¶ySx yhQ+  (C)  Flag leaf 

(D) vkSfjfdy  (D)  Auricle 
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34. czsM xsgw¡ dk IyksbMh Lrj D;k gS \ 
 

34. What is the ploidy level of bread wheat ? 

(A) eksuksIyksbM  (A) Monoploid 

(B) fMIyksbM  (B)  Diploid 

(C) VsVªkIyksbM  (C)  Tetraploid 

(D) gsDlkIyksbM  (D)  Hexaploid 

35. M~;wje xsgw¡ dk okuLifrd uke gS % 
 

35. The botanical name of durum wheat is : 

(A) Vh- Mkbdksde  (A) T. dicoccum 

(B) Vh- VÆtMe  (B)  T. turgidum 

(C) Vh- dkWEisDVe  (C)  T. compactum 

(D) Vh- M~;wje  (D)  T. durum 

36. eDds ds ikS/ks ds ‘kh”kZ ij fLFkr uj iq”iØe dks 

dgk tkrk gS % 

 
36. The male inflorescence located on the top 

of maize plant is referred to as : 

(A) bvj  (A) Ear 

(B) flYd  (B)  Silk 

(C) gLd  (C)  Husk 

(D) Vlsy  (D)  Tassel 

37. czSfldk tafl;k fdlds chp dk ,EQhfMIyksbM 

gS \ 

 
37. Brassica juncea is an amphidiploid 

between : 

(A) czsfldk vksysjsfl;k vkSj czsfldk jkik  (A) B. oleracea and B. rapa 

(B) czsfldk vksysjsfl;k vkSj czsfldk ukbxzk  (B)  B. oleracea and B. nigra 

(C) czsfldk jsik vkSj czsfldk usil  (C)  B. rapa and B. napus 

(D) czsfldk jsik vkSj czsfldk ukbxzk  (D)  B. rapa and B. nigra 
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38. cktjk dk okuLifrd uke D;k gS \ 
 

38. What is the the botanical name of pearl 

millet ? 

(A) isfulsVe Xywdkse (2n = 2x = 14)  (A) Pennisetum glaucum  

(2n = 2x = 14) 

(B) isfulsVe ijisfj;e (2n = 4x = 28)  (B) Pennisetum purpureum  

(2n = 4x = 28) 

(C) isfulsVe vksfj,aVsy (2n = 2x = 18)  (C) Pennisetum orientale  

(2n = 2x = 18) 

(D) isfulsVe jkeksle (2n = 2x = 10)  (D) Pennisetum ramosum  

(2n = 2x = 10) 

39. tSo&izkS|ksfxdh; fof/k ¼lkseDyksuy osfj,’ku½ 

dk mi;ksx djds ljlksa dh dkSu&lh fdLe 

fodflr dh xbZ Fkh \ 

 
39. Which variety of mustard was developed 

through utilizing the biotechnological 

tools (somaclonal variation) ? 

(A) o#.k  (A) Varuna 

(B) ØkfUr  (B)  Kranti 

(C) iwlk t;fdlku  (C)  Pusa Jaikisan 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

40. eDds ds nkus ds Hkwz.kiks”k esa ik;k tkus okyk 

izksVhu dgykrk gS % 

 
40. The protein found in the endosperm of 

maize kernel is called as : 

(A) vksisd  (A) Opaque 

(B) t+hu  (B)  Zein 

(C) izksVhu  (C)  Protein 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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41. dkSu&lk dFku lgh gS \ 
 

41. Which one is correct statement ? 

(A) xUus dk xzksbax lhtu 10&12 eghus dk 

gksrk gSA 

 (A) The growing season of sugarcane 

varies from 10-12 months. 

(B) xUus dh vkSlr mit 60&120 

Vu@gsDVs;j@o”kZ ds chp gksrh gSA 

 (B)  The average can yield ranges from 

60-120 tonnes/ha/year. 

(C) phuh dh vkSlr fjdojh 8 ls 14% ds 

chp gks ldrh gSA 

 (C)  Average sugar recovery may range 

between 8-14%. 

(D) mi;qZDr lHkh  (D)  All of the above 

42. cktjs dh uj ca/; ykbu ^fV¶V 23,* ds ckjs 

esa fuEufyf[kr esa ls dkSu lk dFku lgh gS \ 

 
42. Which of the following is correct 

statement about male sterile line „Tift 

23A‟ of Bajra ? 

(A) bls igyh ckj 1955 esa fV¶Vku] 

tkWÆt;k ;w- ,l- ,- esa [kkstk x;k FkkA 

 (A) It was first discovered at Tifton, 

Georgia U.S.A. in 1955. 

(B) ;g Hkkjr esa 1962 ds nkSjku [kkstk 

x;kA 1966&72 ds nkSjku uj ca/; ykbu 

fV¶V 23, dk mi;ksx djrs gq, ik¡p 

ladj iztkfr;ksa dk foekspu fd;k x;kA 

 (B)  It was introduced in India during 

1962. Using male sterile line Tift 

23A, five hybrids were released in 

India during 1966-72. 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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43. ladj pkoy ds tud ds :i esa fdls tkuk 

tkrk gS \ 

 
43. Who is known as the father of hybrid  

rice ? 

(A) MksukYM ts- yh  (A) Donald J. Lee 

(B) th- ,l- [kq’k  (B)  G. S. Khush 

(C) ykWUxÇix ;qvku  (C)  Longping Yuan 

(D) ,e- ,l- LokehukFku  (D)  M. S. Swaminathan 

44. xsgw¡ esa izksVhu ds fy, gksugkj nkrk dkSu  

gS \ 

 
44. Which one is the promising donor for 

protein in wheat ? 

(A) ,Vyl 66  (A) Atlas 66 

(B) usi gky  (B)  Nap Hal 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. fuEufyf[kr esa ls fdl Qly esa lh&4 izdk’k 

la’ys”kd ekxZ gksrk gS \ 

 
45. Which of the following crops has C4 

photosynthetic pathway ? 

(A) eDdk  (A) Maize 

(B) pkjk  (B)  Sorghum 

(C) xUuk  (C)  Sugarcane 

(D) mi;qZDr lHkh  (D)  All of the above 
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46. pus ds ikS/ks dh lrg ls lzkfor vEyksa ds 

fofHkUu izdkj D;k gSa \ 

 
46. What are the different type of acids 

secreted by the surface of the chickpea 

plant ? 

(A) esfyd ,flM  (A) Malic acid 

(B) vkWDtSfyd ,flM  (B)  Oxalic acid 

(C) lkbfVªd ,flM  (C)  Citric acid 

(D) mi;qZDr lHkh  (D)  All of the above 

47. xUuk gS ,d % 
 

47. Sugarcane is a : 

(A) ckjgeklh m”.kdfVca/kh; ?kkl  (A) Perennial tropical grass 

(B) rus esa tek phuh ds fy, bldks mxk;k 

tkrk gS 

 (B)  Grown for the sugar stored in its 

stem 

(C) LVse dÇVx ds ek/;e ls izpkfjr gksrk 

gS 

 (C)  Propagated through stem cuttings 

(D) mi;qZDr lHkh  (D)  All of the above 

48. v”Vxqf.kr xUus dh iztkfr lSdje 

vkWfQ+flukje dh mRifÙk ekuh tkrh gS % 

 
48. An octaploid cultivated sugarcane species 

Saccharum officinarum is supposed to be 

originated in : 

(A) phu esa  (A) China 

(B) mÙkj Hkkjr esa  (B)  North India 

(C) U;w fxuh esa  (C)  New Guinea 

(D) vts±Vhuk eas  (D)  Argentina 

49. fdl izdkj ds pus dks xjcutksl xzke Hkh 

dgk tkrk gS \ 

 
49. Which type of chickpea is also called 

Garbanzos gram ? 

(A) caxky xzke  (A) Bengal gram 

(B) ekbØksLiekZ  (B)  Microsperma 

(C) nslh Vkbi  (C)  Desi type 

(D) dkcqyh izdkj  (D)  Kabuli type 
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50. igyh e’khu&dVkbZ ;ksX; pus dh fdLe  

dkSu&lh gS \ 

 
50. Which is the first machine-harvestable 

chickepa variety ? 

(A) vkbZlhlhoh 05106  (A) ICCV 05106 

(B) Qqys foØe  (B)  Phule Vikram 

(C) fot;  (C)  Vijay 

(D) fo’kky  (D)  Vishal 

51. lkekU;r% xUus ds iq”iØe ;k Vlsy dks dgk 

tkrk gS % 

 
51. The inflorescence or tassel of sugarcane 

is generally known as : 

(A) Likbd  (A) Spike 

(B) ,sjks  (B)  Arrow 

(C) jslhekst+  (C)  Racemose 

(D) gsM  (D)  Head 

52. xUus ds MaBy dks dqpyus vkSj jl fudkyus 

ds ckn js’ksnkj vo’ks”k dks dgk tkrk gS % 

 
52. The fibrous residue to the cane stalk left 

over crushing and extraction of the juice 

is known as : 

(A) eksyklsl  (A) Molasses 

(B) xqM+  (B)  Jaggery 

(C) csxkl  (C)  Bagasse 

(D) mi;qZDr lHkh  (D)  All of the above 

53. LEAR rsyksa dks dgk tkrk gS % 
 

53. LEAR oils are referred to as : 

(A) ^Çlxy yks* ;k ^Çlxy thjks*  (A) „Single low‟ or „single zero‟ 

(B) ^Mcy yks* ;k ^Mcy thjks*  (B)  „Double low‟ or „double zero‟ 

(C) ^fVªiy yks* ;k ^fVªiy thjks*  (C)  „Triple low‟ or „triple zero‟ 

(D) mi;qZDr lHkh  (D)  All of the above 
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54. eVj esa ,aMªkslh;e gksrs gSa % 
 

54. Androceium in gardenpeas are : 

(A) 9 $ 1 iqadslj ¼Mk;MsyQl½  (A) 9 + 1 stamens (diadelphous) 

(B) 9 $ 1 iqadslj ¼eksuks,MsyQl½  (B)  9 + 1 stamens (monoadelphous) 

(C) 10 iqadslj ¼eksuks,MsyQl½  (C)  10 stamens (monoadelphous) 

(D) mi;ZqDr esa ls dksbZ ugha  (D)  None of the above 

55. vkyw dh Qly dk mn~xe dsUæ gS % 
 

55. Centre of origin of potato crop is : 

(A) U;w fxuh  (A) New Guinea 

(B) is: vkSj cksyhfo;k ds ,aMht ioZr  (B)  The Andes mountains of Peru and 

Bolivia 

(C) mÙkjh vesfjdk  (C)  North America 

(D) mÙkjh Hkkjr  (D)  Northern India 

56. eDdk dk mn~xe LFkku gS % 
 

56. Origin place of maize is : 

(A) e/; vesfjdk  (A) Central America 

(B) czkthy  (B)  Brazil 

(C) dukMk  (C)  Canada 

(D) Hkkjr  (D)  India 

57. ^dSuksyk* ‘kCn dks jsilhM dh mu fdLeksa ds 

:i esa lanÆHkr fd;k tkrk gS ftlesa gksrk  

gS % 

 
57. The term „Canola‟ is referred  

to as rapeseed cultivars that  

contains : 

(A) rsy esa 2% ls de b:fld ,flM  (A) Less than 2% erucic acid in oil 

(B) 30 mol/g ls de XywdkslkbuksysV~l  (B)  Less than 30 mol/g of 

glucosinolates 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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58. vkyw dan :ikRed :i ls % 
 

58. The potato tuber is morphologically : 

(A) ,d ekaly ruk gS ftlesa dfy;k¡ vkSj 

d{k esa NksVs iSekus ij ifÙk;ksa dh rjg 

vk¡[ksa gksrh gSaA 

 (A) A fleshy stem bearing buds and 

eyes in the axil of small scale like 

leaves. 

(B) dan ij ßvk¡[ksaÞ okLro esa ik’oZ js[kkvksa 

}kjk leÆFkr vYifodflr iÙkh ds 

fu’kku gSaA 

 (B)  The “eyes” on the tuber are actually 

rudimentary leaf scars favoured by 

lateral branches. 

(C) izR;sd vk¡[k esa de ls de rhu 

dfydk,¡ gksrh gSa ftuls vxys ekSle 

dh o`f) gksxhA 

 (C)  Each eye contains at least three 

buds from which next season‟s 

growth will emerge. 

(D) mi;qZDr lHkh  (D)  All of the above 

59. eDdk esa mPp ykbflu lkexzh dk lzksr D;k  

gS \ 

 
59. What is the source of high lysine content 

in maize ? 

(A) vksisd 2  (A) Opaque 2 

(B) vkisd 20  (B)  Opaque 20 

(C) izksVhuk  (C)  Proteina 

(D) VhvksflUVs  (D)  Teosinte 

60. fuEufyf[kr esa ls dkSu ,aVhvkWDlhMsaV 

¼,aFkkslk;fuu > 100 g/100 g rktk Hkkj vkSj 

dSjksVhukW;M ~ 200 g/100 g rktk Hkkj½ ls 

Hkjiwj vkyw dh ,d ubZ fdLe gS \ 

 
60. Which of the following is a new 

antioxidant rich potato variety 

(anthocyanins > 100 g/100 g fresh wt. 

and carotenoids ~ 200  g/100 g  

fresh wt.) ? 

(A) dqQjh ykfyek  (A) Kufri Lalima 

(B) dqQjh xaxk  (B)  Kufri Ganga 

(C) dqQjh uhydaB  (C)  Kufri Neelkanth 

(D) dqQjh yhek  (D)  Kufri Lima 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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